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Example 1
243 people out of 400 state that they like dogs. What percent is this?
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Write each as a percent: a) % b) 0.02 c¢)2.35

Percents
If we have a part that is some percent of a whole, then
part
whole
To do the calculations, we write the percent as a decimal.

percent = , or equivalently, part = percent - whole




Example 3

‘ The sales tax in a town is 9.4%. How much tax will you pay on a $140 purchase?
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Example 4
In the news, you hear “tuition is expected to increase by 7% next year.” If tuition this year

was $1200 per quarter, what wil}/Tpe next year?
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Try it Now 1
A TV originally priced at $799 is on sale for 30% off. There is then a 9.2% sales tax. Find
the price after including the discount and sales tax) 1 \
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Example 5

{ The value of a car dropped from $7400 to $6800 over the last year. What percent decrease is
this?

$70g0 Hrgoo = 3600
P c,lo(o/wl—e a/lp\@far L

4400 _ O\OX’ - F@’a?LT'l/f C/\Ly\-se

—_— 7 =

$2400
NC Oflsf’w { \/L)M

0?/\1 = J/ D/é (’chmt' 0}\4/134

O ;

]ﬂg;f r#t/l‘lb ij{

S l”@U‘OML w00 "/0
old

/ l = C:,L(DJLHL@ \/clug, 71) )
\(Qk\/ numpe [ hew=2 ( fol Ve




r\eu"b)b{ >0 | N CYeASL

% z ‘p CA< 2
néu-'oM <() of&c{caf& } \//! ° M§

Absolute and Relative Change
Given two quantities,

Absolute change = |ending quantity — starting quantity

absolute change

Relative change: - .
starting quantity

Absolute change has the same units as the original quantity.
Relative change gives a percent change.
The starting quantity is called the base of the percent change.

The base of a percent is very important. For example, while Nixon was president, it was
argued that marijuana was a “gateway” drug, claiming that 80% of marijuana smokers went
on to use harder drugs like cocaine. The problem is, this isn’t true. The true claim is that
80% of harder drug users first smoked marijuana. The difference is one of base: 80% of
marijuana smokers using hard drugs, vs. 80% of hard drug users having smoked marijuana.
These numbers are not equivalent. As it turns out, only one in 2,400 marijuana users actually
go on to use harder drugs?.
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